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2019

ECONOMICS
( General )

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese
1. Answer the following questions : . 1x7=7
oo fa e ew fan :

(a) What is the basic problem of an
economy?

<51 SRS e P! [ 2

(b) What is meant by static equilibrium?
e s e & o 2

(c) What is indifference curve?

s @ 2

(d) What is price effect?
w3 T A 2

20A/326 ( Turm Over )



20A/326

(2)

(e) What is price discrimination?
w9 Reewesq T R 2

() Define marginal rate of substitution.
oo afeaas T3 e fa |

(@9 What is production function?
e o 6 7

. Answer the following questions : 2x4=8

S 2PPTRY T fi

(@) Mention two characteristics of monopoly
market. .
BT IR o1 (AT Temy

(b) Point out the differences between risk
and uncertainty. .
FOIF WF ATIER T NdH  rER
fran 1

(c) What is normal price?
oS 73 92

(d) Mention two defects of cardinal

approach.

MR Teicarer oI 751 o Seay w4 |

{ Continued )

(3)

3. Answer any three of the following questions :
' 5x3=15
were i eppiyRa R e fofbr T fimn -

(a) Show the differences between returns to
"a factor and returns to scale.
T GO AT Wi SRR AR e
LI A1 (T |

(b) Mention any five properties of
indifference curve analysis.

e @ Rerr R @ <ot (R
ek S

(c) Show the difference between Tent’ and
‘quasi-rent’.
R’ F ST AT e A A1y
<IN

(d) Mention the conditions of short-run

firm’s and industry’s equilibrium under
perfect competition.

o AfScafreNTe @R IPH AfHR
TR ZIFAR SRR TEFL0! Seard 397 |

{fe) Show the differences between fixed
costs and variable costs.

&3 I e ~ARTETNe IR A AL @ |
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4. (a) Explain consumer’s equilibrium with
the help of indifference curve analysis. 10
fers @ ReE[ SRTS (SfeR SRAel
Fef 41|

Or / 9%[1
Explain producer’s equilibrium with the
help of isoquant curve.
T-BRATH @AY ARl B SRETRSl

rdn i
(b) State and explain the law of variable
proportions with the help of appropriate

diagram. 10
R were RiAGH Soige far srEe
[ 90

Or / 941

How can we derive the short-run
industry’s supply curve under perfect
competition?
o e IERe TCHR ZIREA
QeI (I R s FRT AR 2

(c) Critically explain the Hawley’s risk-
bearing theory of profit. 10
JAOER FSRETT I OGH AT TS
S{I51CeET |

Or / 9[1
How are wages determined under
perfectly competitive market?
*f afdcfromee IaRe R TgR - RdRe
IAH?
* % %k
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